AoA (x—2)2+ (y+3)2=140]B=2
2 (2, -3) |t}
ohe= ¥ W55 ret ot
2+ (y+3)?=r2 0|,
o] o] A (1, 2) E AURRE
2 + (2 + 3)2 — r2




FUE+12+2 =124y -6x-6y+2=02° FFH

o @14 @224 @3

® 470

A

—

94

~&B

(x+1)2+y? =1 |4 o] o] FHZ C; ol
3t A ¢, o #EE (-1, 0) o]
HE2]59] dol=1 o]+
X% +y? —6x—6y+2=0 A
PR i

o1 219 318 C, olek 5
A0, o] FEE ( 3) 1L
HF2] 58] dol= 4 o]t
CiCy =502

T 99 259 dol=1,
T 92 A= QJHstA =k
oA FF5 4 A2 3710l

40|82




24 (a+2)x+(a-1)y-3=00°] & 2x% +2y? —4x+8y+3 =02
Wolg ol 5= o, a9 327

®-1 @0  OGn @ 2 ® 3

2 o] He] WolE o] F=st
.

2x2 4+2y? —4x+8y+3=0
2x-1)2+2(y+2)? =7

7
(x-1)*+0+2?=3
webA] o] S (1,-2) 7F A4 Aol e B= (a+2)x1+
(a-1)x(-2)-3=0

Ta=1

ir)

W Z4o] Ue] F4L A




& 283 go] 99 A& AB 919 949
o] gt A P E A PCE do|7t o] §HA]
£9] ZAol¢} FolAE 2 @ CD & =
AP =4, BP =) 2 & uj, 4+ DP 9] Zo]
£ a, b5 HA YERE?

@ a—;—b @ a+b ® Vab
2ab
@ ab © 4
a+b
_ AB a+b
P=— = ol 7!
¢ 2 g o
AP.-BP=CP.DP o|E22
at+b —
p— . P
ab 5
- DP - 2ab

a+b




5.  (k, 0)o1A x2 +y% -2y = 00] 1L F HAo] o] F
45°d o, k4= ko] ghS oY

rr

zke] 2717}

D k=-V2+1 @k:\/§+1 ®k=+vV2-1
@ k=2V2+1 ® k=+vV2+2

~&B ~

24+y2-2y=091A 2+ (y-1)2=10]B2

T HA 5 shde xFola,

T HAo] o]F&= Zte] 27]7} 45°0]|B2

th2 stte] HA 9] 71&7]E ~19Ith. (v k> 0)
webd HA A S y= x+bEBEOHx+y-b=0
o] off, o] FAH (0,1) oA o] ZA7k=] 9] A~l7t
Ao ¥t E o g

0+1-b

Ry

Sl=bl= V2

b>1°E&2 b-1= 2

h=1V2+1

whabA Ao gLy = —x + V2 +10]2

A (k,0)= AtE=

0=-k+V2+1 . k=1V2+1




